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® Zhid. Racctdyaccld (Bisond... )
[IN—H—DxRL—FITHAHEWNI LS
=X SC R

Racc D#EE R 1

® calcy ZHEL T REFENTEDLSIC
LTTFEN REFEEFE. —XFOD
"ATELELELDS

=17 ? 2A3A4
%‘ﬂ-—g—é& = 2417851639229258349412352
$ ruby calcp.rb

? -2A(3A4)
type "Q" to quit. = -2417851639229258349412352
? 4A2A3
= 65536

n -~

7?7 2A3
8 ? —4A(2A3)

= -65536

?

?

AMYITNETH

T8, XFIDEBEPLRITXFOERDMEICIVFLET .

XFFEHE, N ERRBYBITORRICIHELEE A,

EHXF, [ ¥¥n¥r¥f] ERIC

¥1,¥2..¥n
%8 B (back reference),

BASE

nEBEBOFIM(ERER () FIL—EUD)IIRYFLEXFIIZIYFLET

#5ll: show_regexp("Hello to the the world", /(¥w+ )¥1/)

REZRDBEAANDEVE

® 2IEEEFLHOT, MD2IEEE F LR
FRIZEZ N IE &L

& EAE(BEIER) (X, ¥/ &Y L7, BI1E
BEFIYLEN
. 274 = - (274)

® H#54 (right associative) TH 5
x 2/374 = 2A(374)
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@ Ruby [FEHUEAL =0, FLT. S%E>TLSE
BIZHLEAGN O, BIERROAEAREETIIE. &
Ly

@ scannerDZEETT L
CCIRERKRBEAND

case str CCIT, XFFIMELT
when /¥A¥s+/ /ﬁl]\ﬁﬁ&f\@“ﬁﬂ
when EANnD

@q.push [:NUMBER,[ ]
when /¥A¥d+/
@q.push [:NUMBER, $&.to_i]




Ruby ## &

@ E25: EROBM-EHIER
@ push AVYRZEFEALT, BIICERTEBMTHIEN
TED, irb(main):001:0> a = [1,2,3,4]
=>[1,2,3 4]
irb(main):002:0> a.push(10)
=>[1, 2, 3, 4, 10]
irb(main):003:0>

@ pop AYYREFEALT. BEIDREDEREMYH T
CENTED

irb(main):003:0> a.pop
=>10
irb(main):004:0> a
=>[1,2,3,4]
irb(main):005:0>

Ruby #R&: /\wia

@ BRINTIE AT VIRERAVNTEREEET H./\Y
AT F—EFENSLDERAVWTERZRET

° irb(main):001:0> h = Hash::new
= {3

irb(main):002:0> h['apple'] = 150

=> 150

irb(main):003:0> h['banana'] = 200

=> 200

irb(main):004:0> h['lemon'] = 300

=> 300

irb(main):005:0> h

=> {"apple"=>150, "banana"=>200, "lemon"=>300}

irb(main):006:0> h['apple']

=> 150

irb(main):007:0>




